

UNIFORMLY STARLIKE FUNCTIONS AND UNIFORMLY CONVEX  
FUNCTIONS RELATED TO THE PASCAL DISTRIBUTION

GANGADHARAN MURUGUSUNDARAMOORTHY, Vellore,  
SIBEL YALÇIN, Bursa

Received March 9, 2020. Published online November 30, 2020.  
Communicated by Grigore Sălăgean

*Abstract.* In this article, we aim to find sufficient conditions for a convolution of analytic univalent functions and the Pascal distribution series to belong to the families of uniformly starlike functions and uniformly convex functions in the open unit disk  $\mathbb{U}$ . We also state corollaries of our main results.

*Keywords:* uniformly starlike function; uniformly convex function; starlike function; convex function; Pascal distribution; convolution

*MSC 2020:* 30C45, 33C10, 33C20

## 1. INTRODUCTION AND DEFINITIONS

Let  $\mathcal{A}$  be the class of functions  $f(z)$  of the form

$$(1.1) \quad f(z) = z + \sum_{n=2}^{\infty} a_n z^n,$$

which are analytic in the open unit disk

$$\mathbb{U} = \{z \in \mathbb{C} : |z| < 1\}.$$

As usual, we denote by  $\mathcal{S}$  the subclass of  $\mathcal{A}$  consisting of functions which are also univalent in  $\mathbb{U}$ . Moreover, for functions  $f \in \mathcal{A}$  given by (1.1) and  $g \in \mathcal{A}$  given by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n,$$

the convolution of  $f$  and  $g$  is defined by

$$f(z) * g(z) = (f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad z \in \mathbb{U}.$$

It is well known that special functions play an important role in Geometric Function Theory, particularly in the proof given by de Branges (see [5]) for the famous Bieberbach conjecture. The surprising use of special functions (hypergeometric functions) has prompted renewed interest in function theory in recent years. There is a widespread literature dealing with geometric properties of various types of special functions, especially for the generalized Gaussian hypergeometric functions (see [4], [7], [10], [16], [17] and references cited therein).

A variable  $\chi$  is said to have *Pascal distribution* if it takes the values  $0, 1, 2, 3, \dots$  with probabilities

$$(1-q)^m, \quad \frac{qm(1-q)^m}{1!}, \quad \frac{q^2m(m+1)(1-q)^m}{2!}, \quad \frac{q^3m(m+1)(m+2)(1-q)^m}{3!}, \dots,$$

respectively, where  $q$  and  $m$  are called parameters, and thus

$$P(\chi = k) = \binom{k+m-1}{m-1} q^k (1-q)^m, \quad k = 0, 1, 2, 3, \dots$$

Recently, El-Deeb (see [6]) and Çakmak et al. (see [3]) introduced a power series whose coefficients are probabilities of the Pascal distribution

$$(1.2) \quad \Phi_q^m(z) = z + \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} (1-q)^m z^n, \quad z \in \mathbb{U}$$

where  $m \geq 1$ ;  $0 \leq q \leq 1$  and we note that, by ratio test, the radius of convergence of the above series is infinity.

We consider the linear operator

$$\mathcal{I}_q^m: \mathcal{A} \rightarrow \mathcal{A}$$

defined by the convolution

$$\mathcal{I}_q^m f(z) = \Phi_q^m(z) * f(z) = z + \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} (1-q)^m a_n z^n, \quad z \in \mathbb{U}.$$

For our convenience throughout this paper, we use the following formulas:

$$(1.3) \quad \begin{aligned} \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n &= \frac{1}{(1-q)^m}, \\ \sum_{n=0}^{\infty} \binom{n+m-2}{m-2} q^n &= \frac{1}{(1-q)^{m-1}}, \\ \sum_{n=0}^{\infty} \binom{n+m}{m} q^n &= \frac{1}{(1-q)^{m+1}}, \\ \sum_{n=0}^{\infty} \binom{n+m+1}{m+1} q^n &= \frac{1}{(1-q)^{m+2}}, \quad 0 \leq q < 1. \end{aligned}$$

Here, in our present research, we consider the following subclasses which were studied earlier by Rosy et al. (see [15]) and Subramanian et al. (see [18]).

**Definition 1.1** (see [15]). For  $\beta > 0$ , a function  $f \in \mathcal{A}$  of the form (1.1) is said to be in the subclass  $\mathcal{USD}(\beta)$  of the normalized univalent function class of  $\mathcal{S}$  if it satisfies the following inequality:

$$\Re(f'(z)) \geq \beta |zf''(z)|, \quad z \in \mathbb{U}.$$

**Definition 1.2** (see [18]). For  $\beta > 0$ , a function  $f \in \mathcal{A}$  of the form (1.1) is said to be in the subclass  $\mathcal{USN}(\beta)$  if it satisfies the following inequality:

$$\Re\left(\frac{f(z) - f(\zeta)}{(z - \zeta)f'(z)}\right) > \beta, \quad (z, \zeta) \in \mathbb{U} \times \mathbb{U}.$$

Motivated by several earlier results on connections between various subclasses of analytic and univalent functions by using hypergeometric functions (see [4], [7], [16], [17]) and by recent investigations on Poisson distribution series (see [1], [2], [8], [9], [12], [13], [11], [14]), in the present paper we determine sufficient conditions for the function  $\Psi_{q,\mu}^m(z)$  given by

$$(1.4) \quad \begin{aligned} \Psi_{q,\mu}^m(z) &= (1 - \mu)\Phi_q^m(z) + \mu z(\Phi_q^m(z))' \\ &= z + \sum_{n=2}^{\infty} (1 + n\mu - \mu) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m z^n, \quad 0 \leq \mu \leq 1 \end{aligned}$$

to belong to the above-defined classes  $\mathcal{USD}(\beta)$  and  $\mathcal{USN}(\beta)$ .

## 2. MAIN RESULTS AND THEIR CONSEQUENCES

To prove the main results in our present investigation, we shall need the following lemmas.

**Lemma 2.1** (see [15]). *A function  $f$  of the form (1.1) is in the class  $\mathcal{USD}(\beta)$  if*

$$(2.1) \quad \sum_{n=2}^{\infty} (n(1-\beta) + n^2\beta)|a_n| \leq 1.$$

**Lemma 2.2** (see [18]). *A function  $f$  of the form (1.1) is in the class  $\mathcal{USN}(\beta)$  if*

$$(2.2) \quad \sum_{n=2}^{\infty} (n(3-\beta) - 2)|a_n| \leq 1 - \beta.$$

Our first main result is asserted by Theorem 2.3 below.

**Theorem 2.3.** *Let  $m \geq 1$  and  $0 \leq q < 1$ . Then  $\Psi_{q,\mu}^m(z) \in \mathcal{USD}(\beta)$  if*

$$(2.3) \quad \mu\beta \frac{q^3 m(m+1)(m+2)}{(1-q)^{m+3}} + (\mu + \beta + 4\mu\beta) \frac{q^2 m(m+1)}{(1-q)^{m+2}} + (1 + 2\mu + 2\beta + 2\mu\beta) \frac{qm}{(1-q)^{m+1}} \leq 1.$$

**Proof.** Let

$$\Phi_q^m(z) = z + \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} (1-q)^m z^n, \quad 0 \leq \mu \leq 1.$$

Taking  $z = 1$ , we have

$$(2.4) \quad \Phi_q^m(1) - 1 = (1-q)^m \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1}.$$

By simple calculation we have the following:

$$(2.5) \quad \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} = \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n - 1,$$

$$(2.6) \quad \sum_{n=2}^{\infty} (n-1) \binom{n+m-2}{m-1} q^{n-1} = qm \sum_{n=0}^{\infty} \binom{n+m}{m} q^n,$$

$$(2.7) \quad \sum_{n=2}^{\infty} (n-1)(n-2) \binom{n+m-2}{m-1} q^{n-1} = q^2 m(m+1) \sum_{n=0}^{\infty} \binom{n+m+1}{m+1} q^n,$$

and

$$(2.8) \quad \sum_{n=2}^{\infty} (n-1)(n-2)(n-3) \binom{n+m-2}{m-1} q^{n-1} \\ = q^3 m(m+1)(m+2) \sum_{n=0}^{\infty} \binom{n+m+2}{m+2} q^n.$$

Since  $\Psi_{q,\mu}^m(z) \in \mathcal{USD}(\beta)$ , by Lemma 2.1 it suffices to show that

$$(2.9) \quad \sum_{n=2}^{\infty} (1+n\mu-\mu)(n(1-\beta)+n^2\beta) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \leq 1.$$

We now let

$$S(n, \lambda, \beta, \alpha) = \sum_{n=2}^{\infty} (1+n\mu-\mu)(n(1-\beta)+n^2\beta) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m,$$

so that

$$S(n, \lambda, \beta, \alpha) = \mu\beta \sum_{n=2}^{\infty} n^3 \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ + (\mu + \beta - 2\mu\beta) \sum_{n=2}^{\infty} n^2 \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ + (1 - \mu - \beta + \mu\beta) \sum_{n=2}^{\infty} n \binom{n+m-2}{m-1} q^{n-1} (1-q)^m.$$

Writing

$$n^3 = (n-1)(n-2)(n-3) + 6(n-1)(n-2) + 7(n-1) + 1, \\ n^2 = (n-1)(n-2) + 3(n-1) + 1$$

and

$$n = (n-1) + 1$$

we get

$$\begin{aligned}
S(n, \lambda, \beta, \alpha) &= \mu\beta(1-q)^m \\
&\times \sum_{n=2}^{\infty} ((n-1)(n-2)(n-3) + 6(n-1)(n-2) + 7(n-1) + 1) \binom{n+m-2}{m-1} q^{n-1} \\
&+ (\mu + \beta - 2\mu\beta)(1-q)^m \sum_{n=2}^{\infty} ((n-1)(n-2) + 3(n-1) + 1) \binom{n+m-2}{m-1} q^{n-1} \\
&+ (1 - \mu - \beta + \mu\beta)(1-q)^m \sum_{n=2}^{\infty} ((n-1) + 1) \binom{n+m-2}{m-1} q^{n-1} \\
&= \mu\beta(1-q)^m \sum_{n=2}^{\infty} \left( (n-1)(n-2)(n-3) \binom{n+m-2}{m-1} q^{n-1} \right. \\
&\quad + 6(n-1)(n-2) \binom{n+m-2}{m-1} q^{n-1} \\
&\quad + 7(n-1) \binom{n+m-2}{m-1} q^{n-1} + \binom{n+m-2}{m-1} q^{n-1} \Big) \\
&\quad + (\mu + \beta - 2\mu\beta)(1-q)^m \sum_{n=2}^{\infty} \left( (n-1)(n-2) \binom{n+m-2}{m-1} q^{n-1} \right. \\
&\quad + 3(n-1) \binom{n+m-2}{m-1} q^{n-1} + \binom{n+m-2}{m-1} q^{n-1} \Big) \\
&\quad + (1 - \mu - \beta + \mu\beta)(1-q)^m \sum_{n=2}^{\infty} \left( (n-1) \binom{n+m-2}{m-1} q^{n-1} + \binom{n+m-2}{m-1} q^{n-1} \right).
\end{aligned}$$

From (2.5), (2.6), (2.7) and (2.8), we get

$$\begin{aligned}
S(n, \lambda, \beta, \alpha) &= \mu\beta(1-q)^m \\
&\times \left( q^3 m(m+1)(m+2) \sum_{n=0}^{\infty} \binom{n+m+2}{m+2} q^n + 6q^2 m(m+1) \sum_{n=0}^{\infty} \binom{n+m+1}{m+1} q^n \right. \\
&\quad + 7qm \sum_{n=0}^{\infty} \binom{n+m}{m} q^n + \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n - 1 \Big) \\
&\quad + (\mu + \beta - 2\mu\beta)(1-q)^m \left( q^2 m(m+1) \sum_{n=0}^{\infty} \binom{n+m+1}{m+1} q^n \right. \\
&\quad + 3qm \sum_{n=0}^{\infty} \binom{n+m}{m} q^n + \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n - 1 \Big) \\
&\quad + (1 - \mu - \beta + \mu\beta)(1-q)^m \left( qm \sum_{n=0}^{\infty} \binom{n+m}{m} q^n + \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n - 1 \right).
\end{aligned}$$

Now by using (1.3), we have

$$\begin{aligned}
 S(n, \lambda, \beta, \alpha) &= \mu\beta(1-q)^m \\
 &\times \left( \frac{q^3 m(m+1)(m+2)}{(1-q)^{m+3}} + \frac{6q^2 m(m+1)}{(1-q)^{m+2}} + \frac{7qm}{(1-q)^{m+1}} + \frac{1}{(1-q)^m} - 1 \right) \\
 &+ (\mu + \beta - 2\mu\beta)(1-q)^m \left( \frac{q^2 m(m+1)}{(1-q)^{m+2}} + \frac{3qm}{(1-q)^{m+1}} + \frac{1}{(1-q)^m} - 1 \right) \\
 &+ (1 - \mu - \beta + \mu\beta)(1-q)^m \left( \frac{qm}{(1-q)^{m+1}} + \frac{1}{(1-q)^m} - 1 \right).
 \end{aligned}$$

By simple computation,

$$\begin{aligned}
 S(n, \lambda, \beta, \alpha) &= \mu\beta \frac{q^3 m(m+1)(m+2)}{(1-q)^3} + (\mu + \beta + 4\mu\beta) \frac{q^2 m(m+1)}{(1-q)^2} \\
 &+ (1 + 2\mu + 2\beta + 2\mu\beta) \frac{qm}{1-q} + 1 - (1-q)^m.
 \end{aligned}$$

But this last expression is bounded above by 1 if (2.3) holds. Thus the proof of Theorem 2.3 is completed.  $\square$

**Theorem 2.4.** *Let  $m \geq 1$  and  $0 \leq q < 1$ . Then  $\Phi_q^m(z) \in \mathcal{USD}(\beta)$  if*

$$(2.10) \quad \beta \frac{q^2 m(m+1)}{(1-q)^{m+2}} + (2\beta + 1) \frac{qm}{(1-q)^{m+1}} \leq 1.$$

*Proof.* According to Lemma 2.1, it suffices to show that

$$\sum_{n=2}^{\infty} (n(1-\beta) + n^2\beta) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \leq 1.$$

We note that

$$\Psi_{q,0}^m(z) = \Phi_q^m(z).$$

Hence, by taking  $\mu = 0$  in (2.9), we get the above inequality. Therefore, by setting  $\mu = 0$  in Theorem 2.3, we get the desired result given in (2.10).  $\square$

**Corollary 2.5.** *Let  $m \geq 1$  and  $0 \leq q < 1$ . Then  $\Phi_q^m(z) \in \mathcal{USD}(0)$  if and only if*

$$(2.11) \quad \frac{qm}{(1-q)^{m+1}} \leq 1.$$

**Theorem 2.6.** Let  $m \geq 1$  and  $0 \leq q < 1$ . Then  $\Psi_{q,\mu}^m(z) \in \mathcal{USN}(\beta)$  if

$$(2.12) \quad (3 - \beta)\mu \frac{q^2 m(m+1)}{(1-q)^{m+2}} + (3 - \beta + 4\mu - 2\beta\mu) \frac{qm}{(1-q)^{m+1}} \leq 1 - \beta.$$

*Proof.* By virtue of Lemma 2.2, it suffices to show that

$$\sum_{n=2}^{\infty} (1 + n\mu - \mu)((3 - \beta)n - 2) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \leq 1 - \beta.$$

We now let

$$S(n, \lambda, \beta, \alpha) = \sum_{n=2}^{\infty} (1 + n\mu - \mu)((3 - \beta)n - 2) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m,$$

that is,

$$\begin{aligned} S(n, \lambda, \beta, \alpha) &= \mu(3 - \beta) \sum_{n=2}^{\infty} n^2 \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ &\quad + (3 - \beta - 3\mu - 2\mu + \beta\mu) \sum_{n=2}^{\infty} n \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ &\quad - 2(1 - \mu) \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} (1-q)^m, \end{aligned}$$

which, upon writing  $n^2 = (n-1)(n-2) + 3(n-1) + 1$  and  $n = (n-1) + 1$ , yields

$$\begin{aligned} S(n, \lambda, \beta, \alpha) &= \mu(3 - \beta) \sum_{n=2}^{\infty} (n-2)(n-1) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ &\quad + (3 - \beta + 4\mu - 2\beta\mu) \sum_{n=2}^{\infty} (n-1) \binom{n+m-2}{m-1} q^{n-1} (1-q)^m \\ &\quad + (1 - \beta) \sum_{n=2}^{\infty} \binom{n+m-2}{m-1} q^{n-1} (1-q)^m. \end{aligned}$$

From (2.5), (2.6) and (2.7), we get

$$\begin{aligned} S(n, \lambda, \beta, \alpha) &= \mu(3 - \beta)(1-q)^m q^2 m(m+1) \sum_{n=0}^{\infty} \binom{n+m+1}{m+1} q^n \\ &\quad + (3 - \beta + 4\mu - 2\beta\mu)(1-q)^m qm \sum_{n=0}^{\infty} \binom{n+m}{m} q^n \\ &\quad + (1 - \beta)(1-q)^m \left( \sum_{n=0}^{\infty} \binom{n+m-1}{m-1} q^n - 1 \right). \end{aligned}$$



Again by using (1.3) we get

$$S(n, \lambda, \beta, \alpha) = \mu(3 - \beta) \frac{q^2 m(m + 1)}{(1 - q)^2} + (3 - \beta + 4\mu - 2\beta\mu) \frac{qm}{1 - q} + (1 - \beta)(1 - (1 - q)^m).$$

But this last expression is bounded above by  $1 - \beta$  if the condition (2.12) holds. Thus the proof of Theorem 2.6 is completed.  $\square$

By taking  $\mu = 0$  in Theorem 2.6, we can easily deduce the following corollary.

**Corollary 2.7.** *Let  $m \geq 1$  and  $0 \leq q < 1$ . Then  $\Phi_q^m(z) \in \mathcal{USN}(\beta)$  if*

$$(2.13) \quad \frac{(3 - \beta)qm}{(1 - q)^{m+1}} \leq 1 - \beta.$$

Furthermore,  $\Phi_q^m(z) \in \mathcal{USN}(0)$  if

$$\frac{3qm}{(1 - q)^{m+1}} \leq 1.$$

#### References

- [1] *Ş. Altınkaya, S. Yalçın*: Poisson distribution series for certain subclasses of starlike functions with negative coefficients. *An. Univ. Oradea, Fasc. Mat.* **24** (2017), 5–8. [zbl](#) [MR](#)
- [2] *Ş. Altınkaya, S. Yalçın*: Poisson distribution series for analytic univalent functions. *Complex Anal. Oper. Theory* **12** (2018), 1315–1319. [zbl](#) [MR](#) [doi](#)
- [3] *S. Çakmak, S. Yalçın, Ş. Altınkaya*: Some connections between various classes of analytic functions associated with the power series distribution. *Sakarya Univ. J. Sci.* **23** (2019), 982–985.
- [4] *N. E. Cho, S. Y. Woo, S. Owa*: Uniform convexity properties for hypergeometric functions. *Fract. Calc. Appl. Anal.* **5** (2002), 303–313. [zbl](#) [MR](#)
- [5] *L. de Branges*: A proof of the Bieberbach conjecture. *Acta Math.* **154** (1985), 137–152. [zbl](#) [MR](#) [doi](#)
- [6] *S. M. El-Deeb, T. Bulboacă, J. Dziok*: Pascal distribution series connected with certain subclasses of univalent functions. *Kyungpook Math. J.* **59** (2019), 301–314. [zbl](#) [MR](#) [doi](#)
- [7] *E. P. Merkes, W. T. Scott*: Starlike hypergeometric functions. *Proc. Am. Math. Soc.* **12** (1961), 885–888. [zbl](#) [MR](#) [doi](#)
- [8] *G. Murugusundaramoorthy*: Subclasses of starlike and convex functions involving Poisson distribution series. *Afr. Mat.* **28** (2017), 1357–1366. [zbl](#) [MR](#) [doi](#)
- [9] *G. Murugusundaramoorthy, K. Vijaya, S. Porwal*: Some inclusion results of certain subclass of analytic functions associated with Poisson distribution series. *Hacet. J. Math. Stat.* **45** (2016), 1101–1107. [zbl](#) [MR](#) [doi](#)
- [10] *S. Owa, H. M. Srivastava*: Univalent and starlike generalized hypergeometric functions. *Can. J. Math.* **39** (1987), 1057–1077. [zbl](#) [MR](#) [doi](#)
- [11] *S. Porwal*: Mapping properties of generalized Bessel functions on some subclasses of univalent functions. *An. Univ. Oradea, Fasc. Mat.* **20** (2013), 51–60. [zbl](#) [MR](#)
- [12] *S. Porwal*: An application of a Poisson distribution series on certain analytic functions. *J. Complex Anal.* **2014** (2014), Article ID 984135, 3 pages. [zbl](#) [MR](#) [doi](#)

- [13] *S. Porwal, Ş. Altınkaya, S. Yalçın*: The Poisson distribution series of general subclasses of univalent functions. *Acta Univ. Apulensis, Math. Inform.* 58 (2019), 45–52. [zbl](#) [MR](#) [doi](#)
- [14] *S. Porwal, M. Kumar*: A unified study on starlike and convex functions associated with Poisson distribution series. *Afr. Mat.* 27 (2016), 1021–1027. [zbl](#) [MR](#) [doi](#)
- [15] *T. Rosy, B. A. Stephen, K. G. Subramanian, H. Silverman*: Classes of convex functions. *Int. J. Math. Math. Sci.* 23 (2000), 819–825. [zbl](#) [MR](#) [doi](#)
- [16] *H. Silverman*: Starlike and convexity properties for hypergeometric functions. *J. Math. Anal. Appl.* 172 (1993), 574–581. [zbl](#) [MR](#) [doi](#)
- [17] *H. M. Srivastava, G. Murugusundaramoorthy, S. Sivasubramanian*: Hypergeometric functions in the parabolic starlike and uniformly convex domains. *Integral Transforms Spec. Funct.* 18 (2007), 511–520. [zbl](#) [MR](#) [doi](#)
- [18] *K. G. Subramanian, G. Murugusundaramoorthy, P. Balasubrahmanyam, H. Silverman*: Subclasses of uniformly convex and uniformly starlike functions. *Math. Jap.* 42 (1995), 517–522. [zbl](#) [MR](#)

*Authors' addresses:* *Gangadharan Murugusundaramoorthy*, School of Advanced Sciences, Vellore Institute of Technology, Tiruvalam Rd, Katpadi, Vellore, 632014, Tamil Nadu, India, e-mail: [gmsmoorthy@yahoo.com](mailto:gmsmoorthy@yahoo.com); *Sibel Yalçın*, Department of Mathematics, Faculty of Arts and Sciences, Bursa Uludag University, Görükle Campus, Nilüfer, 16059, Görükle, Bursa, Turkey, e-mail: [syalcin@uludag.edu.tr](mailto:syalcin@uludag.edu.tr).